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1. Which of the following is a V-T curve for

isobaric process?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_u1RioPY7LZIg

A s

B. &

C.les

D. L.

Answer: C

o Watch Video Solution

2. If one mole of gas doubles its volume at
temperature T isothermally then work done by

the gas is


https://dl.doubtnut.com/l/_u1RioPY7LZIg
https://dl.doubtnut.com/l/_PPrwtTgLGTAw

A.—RT'log, 4

B. RT'log, 2

C. — RT'log;, 2

D. RT

Answer: B

o Watch Video Solution

3. For an adiabatic process if volume becomes

1nd

D of initial value then pressure become


https://dl.doubtnut.com/l/_PPrwtTgLGTAw
https://dl.doubtnut.com/l/_mq9L40loQ5rm

(Take y= 14, if P is initial pressure)

A2P

B.4 P

C.128 P

D.8 P

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_mq9L40loQ5rm

4. iln isochoric process change ib internal
energy of the gas in /A T temperature rise

for 2 moleis

A2C, AT

Cy
B.TAT

C.20y AT

D. Zero

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NxlPqPq1R44I

5. For an adiabatic process :

A ANU=0

B. AU+ AW =0

C AW=0
D. AV =0
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BAD6mh7XpzmH

6. If a pair of linear equations is consistant ,

then the lines represented by them are

A.3 RT

B.RT

C.6 RT

D.2 RT

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_y2hA8uB1S5mK
https://dl.doubtnut.com/l/_CQwhVVCHezIv

7. A gas expands from 2m® to 2.5m® at
constant pressure 10° pa, the work done is

A. 50|

B. 25 ]

C. 500

D. 250 |

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CQwhVVCHezIv

8. Calculate the work done (in joules) when 0.2
mole of an ideal gas at 300K expands
isothermally and reversible from an initial
volume of 2.5 litres to the final volume of 25
litres.

A. Isothermally

B. Isobarically

C. Adiabatically

D. Same for all three process

Answer: C


https://dl.doubtnut.com/l/_98Mz6iCUz9mT

o Watch Video Solution

9. A gas is compressed at a constant pressure

3

of 50 N/m2 from a volume of 10m° to a

volume of 8m?>. Energy of 200 J is then added
to the gas by heating. Its internal energy is

A. Increases by 300 |

B. Increases by 200 |

C. Increases by 400 )

D. Increases by 100 )


https://dl.doubtnut.com/l/_98Mz6iCUz9mT
https://dl.doubtnut.com/l/_pXl9PvyyhC0s

Answer: A

o Watch Video Solution

10. During an adiabatic process, the pressure
of a gas is found to be proportional to the
square of its absolute temperature. The « for

the gas is

>

N
g B~|ot | w

0


https://dl.doubtnut.com/l/_pXl9PvyyhC0s
https://dl.doubtnut.com/l/_wXdpsWZmgdPl

D. 2

Answer: D

o Watch Video Solution

11. The slope of P-V graph for isochoric process

IS

A. Zero

B. Infinite

C.One


https://dl.doubtnut.com/l/_wXdpsWZmgdPl
https://dl.doubtnut.com/l/_weBTqH8IzSLM

D. Two

Answer: B

° Watch Video Solution

12. Which of the following formula is correct ?

[ Where symbols have their usual meaning ]

A.Cvzi
v—1
R
5.0, = 1R
v—1
C
C—p:'y


https://dl.doubtnut.com/l/_weBTqH8IzSLM
https://dl.doubtnut.com/l/_ZfiPS3lQqoBv

D. All of these

Answer: D

° Watch Video Solution

13. A wire of resistance 8R is bent in the form

of a circle. What is the effective resistance

between the ends of a diameter AB?

A.0.75

B.0.60


https://dl.doubtnut.com/l/_ZfiPS3lQqoBv
https://dl.doubtnut.com/l/_9hH5tk8fRRLK

C.0.80

D. 0.50

Answer: D

o Watch Video Solution

14. A reversible engine converts one-sixth of
heat input into work. When the temperature
of sink is reduced by 62°C, its efficiency is
doubled. Find the temperature of the source

and the sink,


https://dl.doubtnut.com/l/_9hH5tk8fRRLK
https://dl.doubtnut.com/l/_jXifIGwq9guG

A.372 K

B.310 K

C.400 K

D. 645K

Answer: A

o Watch Video Solution

15. A carnot engine whose sink is at 290 K has
an efficiency of 30%. By how much the

temperature of the source be increased to


https://dl.doubtnut.com/l/_jXifIGwq9guG
https://dl.doubtnut.com/l/_Tcrse2RCptIM

have its efficiency equal to 50%, keeping sink

temperature constant

A.200 K

B.250 K

C.125K

D.300 K

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Tcrse2RCptIM

16. The mathematical aptitude score of 10
computer programmers with their job

performance is given below :

IJ

e T ol o 121,
Calculate the Spearman's coefficient of rank
correlation and interpret the result.

A.0.2
B.0.3
C.0.5

D.1.3


https://dl.doubtnut.com/l/_04KMboNnSw1a

Answer: D

o Watch Video Solution

17. A carnot cycle consists of

A. Two irreversible isothermal process and

two irreversible adiabatic process

B. Two irreversible isothermal process and

two reversible adiabatic process


https://dl.doubtnut.com/l/_04KMboNnSw1a
https://dl.doubtnut.com/l/_dVEfLmdF0WQ6

C. Two reversible isothermal process and

two reversible adiabatic process

D. Two reversible isothermal process and

two irreversible adiabatic process

Answer: C

o Watch Video Solution

18. Efficiency of a heat engine working between

a given source and sink is 0.5 . Coefficient of


https://dl.doubtnut.com/l/_dVEfLmdF0WQ6
https://dl.doubtnut.com/l/_PhZKBWKPUywY

performance of the refrigerator working

between the same source and the sink will be

A. 1.5

B. 25

C.0.25

D. 4

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PhZKBWKPUywY

